d9-8 Lstnommol g3933s (+26.40 6odbymb) GBap0 - AT ©5390%

[ 33Cm0oo0l 3thmgjno ) 51609560
d. 1:100

1.65b5%30 bm37d0 3m3937mmos 39HEr9d30

2.65b35bol y3gmms (330Mm0mads 339690 MdoLL
395639310 bod aymUL 3E3mMgHol 53hmMEIcs6

3.0.00 60361mmo 897Lsds390s +3.48
SOLMMOoEYE 603bYMUL

7JL3mMmoyogo0s:

6.10

T
0.90 %0.50% 0.75% 1.00 | 3.55 100 5.10

1. §0075 o> (Moo3ho

2. (0961903560
o 3. 3o
g < —— — { 4. LsBbSE M
l I ) @
© — 419 | 5. Uggemo Bysgomo
|
l 6. Lsdobgdgmo
l
l g 8 7. Ly mosbo
o l
oo 5 & | L 8. 503560
©560869mm7ds (UssBgstR0dm %\bﬁmao 50360l ggsfiomon Lsgonm ggefion F
37000L hobigdo) l 8
b6 N56 77.9 33.8 13.3 533 91.2 13.3 | 8|-4 &
\ £
dobs N57 44.2 43.9 9.3 »3.9 53.5 43.8 | | o T @
d06s N58 99.0 13.3 26.3 13.8 125.3 53.8 & — 7 I
g |
dobs N59 74.4 y3.9 9.8 »3.9 84.2 43.9 |
065 N60 85.4 13.3 13.0 53.8 98.4 13.9 He o 2
”‘ 0.90 8
d06s N61 89.0 3.3 12.7 3.9 101.7 43.9 o g i
I
75.3 13.9 7.8 53.8 83.1 3.3
d0bs N62 53 53 43 2.2 A | A 2.2
do6s N63 29.7 13.8 3.4 438 33.1 138 H R e
Lo 574.9 3.8 95.6 43.8 670.5 13.8 @ - o s
dobs N:59 i
84.2 82 r :
5080L > (ogHoL @ofime 41.0 538 i / i 3ofbhmdomo bodbgdo:
6903560 25.7 »3.09 ; '8 d0bs N:63 a
Hob6950l 33 0(20-0560 Hob9d0) 56.8 43.9 = g i?,8 & 33.18 g e
Ly 794.0 13.8 N “ H\ \J
2 646 5 | 6 Lsozetio m7y6dol bsoo

2.
-
o
N
@

N

65

‘ 46500mol bsbo

5.70

G — <=1

®0bs> N:62

0.40,

|
l
l
|
: _____ Ld pooslnfrm
l
l
l
l
I

_______________ | B 36mmomo B obsto

dobs N:60
98.4 32

3.60

D U330 60367mo

6.70
6.20

0.40,

05343900 3.3.U bym3mmo

1-1 A
@ 14

doLsdstioo:].0500130,
3.50580dol JmBs 6n3:13
3.50530dol J9Bs 6315

0.40,

T

3.20

2.80
10.49 1.00

T

dobs N:61
101.7 82

@ - =|=1g

1.40

1.00
|
|
\

BFEM%jOob LsbgmBmoqdes:
It1535mMd0b0sSbo Livsgbm3zydgmo
Lsbemo

|
T

3.60
4.25

2.85
2.70 0.40,
2.00
2.50

\
I
|

o]
. 1.00

056500 Mds| 3350 |bymm3mBytis| s,

of)jpmbtio |o.gomigsdy

0.25
82)00({)2)01);{’015 dUZ]F)O 106 | 1.00 "/ 100 | 3.55 { 100 4075, 1.00 4.15 1.00 3.20 0.40, 2.50

5.90 0.40% I 2.50

1.61 5.29 6.55

strjongjambro | o.gombngsdy

1.55 1.25 4.55
A |

|
{
\ 05507353 %.bm3dyMoyo

b & b d &

2
elen
e
o
—
C <
Fg / AsLBpsda: 1:100
. Bobobo: 39-8 Lamormmols
2 i00: 3739s +26:>).4O 6086‘38%3
2
"m0 Lydsooe: o3mf3gmo:! oyt gdo!

3maino:




